4
BS PL NWM
- )
+ x 100
+ x 100
34,945,485 BS
11,573,551 BS 1,093,808 BS
12,667,359
42,358,653 BS
+ x 100 825
= x 100 29.9
50 90
15 40
50,935,302 BS
13,555,929 CF 919,569 CF
38,534 CF 819,217

CF 15,333,249



3.0 7.0
BS

17,980,158 43.1
14,133,117 33.8
2,977,698 7.1
1,764,061 4.2
957,253 2.3
544,320 1.3
3,440,955 8.2
41,797,562 100.0

x 100

30,868,665 BS
41,797,562 BS
9,827,959 BS

+ 49.1

35 50




+ x 100

274,734 PL
13,189,327 PL

+ x100 21

+ x 100

13,189,327 PL
42,358,653 BS

+ x 100 31.1

10 30

x 100

12,914,593 PL
9,933,894 NWM
2,195,674 NWM




90 110

100

100



